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* 1 irreducible components of dim¢ = 0, with total 78 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings
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az = \ 10 — 4438 .o — Tu® 4 202

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u™ +4u™ + .- +4u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs w4250+ —u+1
C2,Ce u - fut1
€3 u™® —u"" 4 4+ 12563u + 3361
C4, C10 u®—u a1
cr w50+ 13u+3
cg,Cy,C11 w19+t u+1
cia u™ + Tu"" 4 -+ 101w + 391




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs YTy ey 1
C2,Cp Y25y ey 1
€ Y™ —31y™" + ... — 206603801y + 11296321
C4, C10 y® =19y T —y 1
“r y™ —3y7T -+ 34Ty + 9
g, C9, C11 y 81y 4+ Ty +1
c12 y™® —11y"" + .- — 1417801y + 152881




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—=1C8S) Cusp shape
= 0.949193 + 0.3580401 —4.26149 — 6.005681 0
= 0.949193 — 0.3580401 —4.26149 + 6.005681 0
= —0.909376 4 0.3671901 —0.50435 + 3.911211 0. — 7.545991
= —0.909376 — 0.3671901 —0.50435 — 3.911211 0.+ 7.545991
= 0.922832 4 0.3013271 —2.15865 — 0.424741 —6.89852 4+ 0.1
= 0.922832 — 0.3013271 —2.15865 4 0.424741 —6.89852 4+ 0.1
= —0.953974 + 0.3906131 2.02865 + 5.815031 0
= —0.953974 — 0.3906131 2.02865 — 5.815031 0
= —0.853626 + 0.4537371 3.50897 4 3.531651 0. —6.387691
= —0.853626 — 0.4537371 3.50897 — 3.531651 0.+ 6.387691
= 0.963013 4 0.3864331 1.09694 — 11.549001 0
= 0.963013 — 0.3864331 1.09694 + 11.549001 0
= —0.925410 + 0.2380581 —2.50131 + 4.747251 —7.86723 — 7.248301
= —0.925410 — 0.2380581 —2.50131 — 4.747251 —7.86723 4 7.248301
= 0.826172 + 0.4750931 3.01816 + 2.083221 0
= 0.826172 — 0.4750931 3.01816 — 2.083221 0

= —0.936652 + 0.113686.1

—0.43311 — 6.135581

—5.92020 + 4.392041

= —0.936652 — 0.1136861

—0.43311 + 6.135581

—5.92020 — 4.392041

—0.921742 4 0.1680351

—5.33588 — 0.729511

—12.03847 4+ 0.1

—0.921742 — 0.1680351

—5.33588 + 0.729511

—12.03847 4 0.1

0.918147 + 0.1027141

0.436101 + 0.5527971

—4.23323 + 0.602021

0.918147 — 0.1027141

0.436101 — 0.5527971

—4.23323 — 0.602021

0.837889 + 0.2099091

—1.48994 — 0.677691

—4.74017 4 0.617301

= 0.837889 — 0.2099091

—1.48994 + 0.677691

—4.74017 — 0.617301

gl|f|R|g|g|g|g|e|f|g|g(g|g|g|r|g|g|g|g|g|”f|g|g|g|g|g|g|g |

= 0.846308 + 0.7827731 3.69266 + 2.680841 0
= 0.846308 — 0.7827731 3.69266 — 2.680841 0
= 0.891675+ 0.7670321 —0.21663 — 2.900391 0
= 0.891675 — 0.7670321 —0.21663 + 2.900391 0
= —0.864820 + 0.8058291 4.66036 + 2.295421 0
= —0.864820 — 0.8058291 4.66036 — 2.295421 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.852900 + 0.8455001 4.93566 + 2.146761 0
u = —0.852900 — 0.8455001 4.93566 — 2.146761 0
u = —0.834187 + 0.8689061 3.57453 — 3.668451 0
u = —0.834187 — 0.8689061 3.57453 4 3.668451 0
uw=0.927507 4 0.7756031 3.44668 — 8.560881 0
u= 0.927507 — 0.7756031 3.44668 + 8.560881 0
u= 0.848176 + 0.8676141 7.28261 + 1.174921 0
u= 0.848176 — 0.8676141 7.28261 — 1.174921 0
u = —0.834616 + 0.8825871 9.27923 — 9.224891 0
u = —0.834616 — 0.8825871 9.27923 + 9.224891 0
u = —0.918757 + 0.7961161 4.49717 + 3.713651 0
u = —0.918757 — 0.7961161 4.49717 — 3.713651 0
uw=0.838397 + 0.8817671 10.20570 + 3.386861 0
uw= 0.838397 — 0.8817671 10.20570 — 3.386861 0
u= 0.870546 + 0.8747791 11.65370 4 0.031731 0
u= 0.870546 — 0.8747791 11.65370 — 0.031731 0
u = —0.875907 + 0.8731321 11.14380 + 5.823101 0
u = —0.875907 — 0.8731321 11.14380 — 5.823101 0
u= 0.466979 + 0.5926741 4.13801 — 6.038771 4.19257 4 6.321561
u= 0.466979 — 0.5926741 4.13801 + 6.038771 4.19257 — 6.321561
u = —0.947419 + 0.8119871 4.63904 + 4.032731 0
u = —0.947419 — 0.8119871 4.63904 — 4.032731 0
uw=0.959984 + 0.8240371 6.93085 — 7.457691 0
u=0.959984 — 0.8240371 6.93085 4 7.457691 0
u = —0.438234 + 0.5878461 4.79894 + 0.340841 5.80799 — 0.759581
u = —0.438234 — 0.5878461 4.79894 — 0.340841 5.80799 + 0.759581
u = —0.945617 + 0.8437751 10.92280 + 0.540881 0
u = —0.945617 — 0.8437751 10.92280 — 0.540881 0
u = —0.968614 + 0.8175871 3.15301 4 9.932931 0
u = —0.968614 — 0.8175871 3.15301 — 9.932931 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u= 0.950142 + 0.8415151 11.40160 — 6.393461 0
u= 0.950142 — 0.8415151 11.40160 + 6.393461 0
uw=0.973193 + 0.8266981 9.78039 — 9.719981 0
w= 0.973193 — 0.8266981 9.78039 4 9.719981 0
u = —0.975680 + 0.8250381 8.8343 + 15.56471 0
u = —0.975680 — 0.8250381 8.8343 — 15.55471 0
u=0.531343 + 0.4394871 —1.00342 — 1.580097 | —2.01538 + 5.375541
u= 0.531343 — 0.4394871 —1.00342 4 1.580097 | —2.01538 — 5.375541
u=0.255379 + 0.6258721 3.30859 + 7.855661 3.20389 — 5.913161
u= 0.255379 — 0.6258721 3.30859 — 7.855661 3.20389 4 5.913161
u = —0.272215 + 0.6162131 4.15492 — 2.124641 5.01075 4 0.817931
u = —0.272215 — 0.6162131 4.15492 + 2.124641 5.01075 — 0.817931
uw=0.213064 + 0.5664461 —2.03101 4 2.604997 | —2.70961 — 3.783061
uw=0.213064 — 0.5664461 —2.03101 — 2.604991 | —2.70961 + 3.783061
u = —0.312826 + 0.5098541 1.31485 — 0.567821 6.42425 4 1.089591
u = —0.312826 — 0.5098541 1.31485 + 0.567821 6.42425 — 1.089591
u = 0.052632 + 0.5031711 0.27202 — 2.359501 0.15712 + 3.019661
u = 0.052632 — 0.5031711 0.27202 4 2.359501 0.15712 — 3.019661




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs w250 4+ —u 1
€2, C6 u - a1
& u™ —u™ - 12563u + 3361
¢4, C10 u® Tyl
7 u® +5u" -+ 13u+3
cg,C9,C11 W19+ fu+ 1
c12 u™ +7u™ + -+ +101u + 391




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢5 y 5Ty 4 —y+1
C2,Ce y 425y 4 —y+1
€3 y™® —31y"" + .- — 206603801y + 11296321
¢, €10 y =19y "+ —y 41
cr Y™ 3y 4 34Ty + 9
€8, €9, C11 Y81y Ty + 1
12 y™ —11y"" + ... — 1417801y + 152881




